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To change from liquid to gas,


the substance must be given energy.


Energy needed to	


boil water at 100°C





Evaporation causes cooling,


because the faster molecules leave the surface.


Evaporation is increased if:


• dry day  • warm day  • windy day  • large area





Changing the melting point:


•	Impurities lower the melting point


•	Increased pressure lowers the melting point





Changing the boiling point:


•	Impurities raise the boiling point


•	Increased pressure raises the boiling point





To change from solid to liquid,


the substance must be given energy.


Energy needed to  


melt ice at 0°C





10   Changing State
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